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GEOGRAPHY
( General )

( Human Geography )

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

L

1. Answer the following questions : 1x4=4
oo AERoE Ted ford :
(aq) “Human Geography is synthetic study
of the relationship between human
societies and the earth’s surface.”

Who proposed the above definition of
Human Geography?
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(p) Who used the word ‘ecosystem’ for the
first time?
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2.

(2)

(¢) Where do the Beduins inhabit?
AT 79 IPT 7

{d) What is oasis?
S 1 2

Answer any three questions of the following :

2x3=6
were T R e fofbt 2 Teg forar -
(@) What is greenhouse effect?
CToEeE 4] [ 2
() What do you mean by density of
population?
Teifed T e fF e 2

(c) What is optimum population?

3Pey (S 1 ) Gk &2
(d) What is perennial migration?

T e 2

Write short notes on any two of the
following : 5x2=10
weg R e o e vy (BTt ferar

(a) Demographic Transition

eI FREH
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(3)

(b) Human adjustment in Mountain Region

“jIe] HYeTe WJZT T2

c) Impact of Man on Plant Kingdom
Tfew waleq S Fizd 4o

Answer any two questions from the

following : 10x2=20

war R P ot 2 e o

(a) Write the approaches in Human
Geography. 10
TR ST SR AT for |

(b) What is population migration? Write the
consequences of population migration.
2+8=10

T 7 TNeREET AR I |

(c) What is rural settlement? Discuss the
factors influencing rural settlement.

2+8=10
S Pfe B aw wfee ge[ il
FEFAZ, S 1 |
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